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I  Analysis of 31 clause — if he bought the nx after some wine was in the M13; only that wine is 1oR —rest is I1mmn
a &1 7 only if he didn’t return the basket to the upper n); otherwise, all is 77or
i Question: how did basket become 7108?
1 Suggestion: through mx» (flow — at bottom of stream, hits 112 where it is 1)
2 Block: our position (contra npr11¥) is that 11200 1R PIxn
3 Rather: case where wine in M2 filled up and touched bottom of basket
b Story: 6-year old (prodigy) mastered 1"y — was asked if it is permissible to trample w/n"2y
i Answer: permitted — as long as his hands are tied (to keep him from 7o)
ii ~ When asked: what about 7701 by his legs, he answered that Y31 7o PR
¢ Story: in XyT1IM), YR’ and p"2Y trampled grapes together; YR waited until n’non gathered to rule
i Possibility: he was waiting to see if anyone supported 1m "1 — who ruled that if the " measured out
wine by hand, 7or (2'non — even by hand 1mn)
1 Block: even 1 only prohibited if he measured by hand — not by foot
ii  Rather: to see if anyone supported w™ — touch of 0”2y without intent for 12 is N7 nwa IMn
d  Story: in o3, ™Y climbed tree; on way down, his stick went into wine
i Ruling (27): may sell wine to n™y
1 Challenge: 21 had ruled that even a day-old child effects 1
2 Response (370: that only prohibits drinking, not nran
ii  Revisiting 27's ruling: about the day-old child
1 Challenge: if someone bought slaves who had had n%n n»a but no n%av (not YR yet)
(a) Or:slave children born into house who had n%m but no n%av
(b) Status for xmIv: as per WAt (emissions — even in 71”77 — are NNV)
(i) Or: alternate version — in 7”07 — 1NV
(c) And: adults (who understand 1) — effect 1; minors (who don’t understand 1”y) — don’t make 1
(d) Point: 1™ is limited to o112
(i) Defense: that distinction is only in re: mnaw »1 (who were raised in 5X79”’s home)
(i) Challenge: link made by 121 obviates that
1. Answer: the link is in re: emissions that render nrmv
2. Challenge: that is only valid according to version "Rnv”; not "11nv”
a. Answer: teaches that mnaw 72::0772p — only a problem is they haven’t had navy non
b.  Contra: Rmv - o712y need ("2 - 12 mo.) to forget 1"y before no longer generate 1™
2 Challenge (1775 K27): against YR1nV’s ruling — from &n»91 above (buying nr7ay)
(a) Argument: only 1920 X5 1510 make 1 — but 19201 910 are immediately “clean”
(i) Defense: as above — refers to mnaw »1 (but "121"; applies to nkmY; acc. to version "nv”)
(if) Conclusion: compares MNaY %29:0>71y
1. Just as: mnaw 11 - only adults can make 1™
2. Similarly: v*7ay — only adults can make 1 (contra 17)
e  Story (in #nnw) ©™2y put his hand into wine barrel of 587w’ (in his wine store) to see if it was wine
i Then: 987w denied it was wine— 987w’ got mad and threw him out
ii  Ruling (8¥37): may sell to n"ay
1 Dissent: colleagues — out of town — dissented and announced it was T7ox
(a) When: 3”97 112 R0 "1 came to R1inn (after X171 was “dressed down” by »aR — see next page) - con-
vened privately. X0 "1 asked 817 what the ruling is if 0”12y puts his hand into wine without intent
(b) Answer: 1OR — even to sell
(c) Challenge: but he had ruled that it may be sold
(i) Defense: must lose value of the wine that was touched; may sell other wine in store
1. Note: this was a “cover-up”; he really had permitted selling all the wine ("*v9)
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